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. Section 'A', containing 10 very short-answer-type questions, is
compulsory. Section 'B’ consists of short-answer-type questions and
Section 'C' consists of long-answer-type questions. Section 'A' has

to be solved first.
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Section - 'A'

freifea sfacgay ¥¥l @ SR ve gr & grgal ¥ ? |
Answer the following very short-answer-type questions in one or two

sentences. (1x10=10)

| argEiE T @ R ey 87
What is meant by Business finance? v
g R W R fEee @ e g 87
What are the types of financial planning on the basis of time?
. goh < R 8
What is capital rationing?
. Yol gofed &1 91 Hexd &7
What is the importance of capital budgeting?
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(.
W 5. Q@R ofw ot @ errd @ B £7 y
What is the cost of preferance share capital? &

weq 6. Ufare oa¥d @ur B 87 £y
What is operating leverage? 2

w7, faf vEEr @ @ e w7
What is meant by financial structure? ¢

S 8. WRA wme DRy @ ¥
What is the conservative dividend policy? |

HE 9. USSRV P IR BRI Yol Hr 27 ‘)
What is the working capital as per qualitative approach? I

T 10.%0PS W99 3 T Jeed folked | )
Write two objectives of cash management. F

| ¢

Section - 'B' y

Fefea og Swg wel & SR 150-200 we T ¥ O
Answer the following short-answer-type questions with Wora
limit 150-200.

TeT 1. fOxT B & WERFTG fREmReRT $) gy |

Explain the traditional approach of finance function.

(5x5=25%,

OR ;
3t goflavyr & SuaR & £ |HIey | ‘

What are the remedies of over capitalisation? Explain.
yeT 2. Yo @ PrgEer R ua Rl ffew | | >

Write a note on capital expenditure control.
OR 4

What is internal rate of return method? Explain. |
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937 3. vfaenRa amg & &1 arra 98 8, we IR |

U39 4,

U &

U3 1.

Retained earning do not involve any cost, clarify.
OR

TR g 9 aNv w1 wgi 87 |aHIngd |
What do you mean by indifference point? Explain.
goil g Rigra @ aradmet wr fewfy forRed |

Write a note on assumptions of capital structure theories?

OR

qreey Y3 W THTe SIferd |
Throw light on Walter's formula.

Frihe goll fveyor § Ul & #ew & wHEY |

Explain the significance of ratio in working capital analysis.

OR
gl ¥ G WiRew &1 weg # quie Sy |
Discuss in brief the risks associated with receivables.
Section - 'C'

ﬁﬂfﬁ?ﬂﬁétﬁfmmﬁ?ﬁwsm—amwmfi%

Answer the following long-answer-type questions with word
limit 300-350 ' (8x5=40)
R Tee & ST T U 2?7 U T SumE A 39S ol SRl
&1 e B |

What do you mean by financial management ? Describe the basic
objectives of corporate enterprise.

OR
v aleifies e @ forg faxiia AT GO sxat s and foney 97t

Y T § TER? 9 YHR 7 AT B W Far €7 e B |

What considerations would you keep in mind while drafting a financial plan

for an industrial concern? What are the limitation of such plans? Describe.
P.T.O.
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e UG AT et @ widr 3 weagd S aFnT BT ARR A B

The following is the summary of important financial data in respect of five
independent investment proposals :
Proposals Initial outlay Annual C?:: Flow
Rs. ;

A 30000 6000

B 8100 2700

C 16800 3600

D 21000 6000

E 20125 1500

Y ¥ ol B UR WK 39y B AEg BT |
Rank these proposals according to pay-back period.

OR

oRew fafite & g @ 99 &) IRAS (@) T (3) faammeEs
2| SUaey faawor 2 :
Two Projects A and B are before consideration of the management of

TOREX Ltd. The particulars available are :
Project A Project B

Cost (inRs.) 10000 10000
Economic Life (in year) 4 6
Earnings before Depreciation after tax :

Year 1 5000 1000
Year 2 4000 2000
Year 3 3000 - 3000
Year 4 1000 4000
Year 5 = 5000
Year 6 6000

mqﬁaﬁwaﬁmﬂﬁ%@ﬁﬁﬁvwm@ﬁﬁmﬁ%w
AT PN |

Which project should be preferred? Use unadjusted return on investment method.
31 feewR, 2003 @ 3T A TH BN B UIT 100000 7, B 11% SEOTqS
(wa?%;ooza)m( m‘qooaﬁéaaﬁ‘s‘ltﬁaézom%
IR ST BT 7T urg 80 'ﬁ
a‘rﬁwwmﬁzﬁraﬁrﬁ&m@;ﬁ?w mew
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A company has 11% debenture of Rs. 100000 (face value Rs. 100)
outstanding at the end of Dec.-31, 2003 to be matured on De. 2008. Ifa
new issue of the debentures could be sold at a net realisable value of Rs.
80 in the beginning of 2002, what will be the cost of existing debentures?

OR
3T YEgAT X e Y Sufat § Gefda 2
The following projections are related ot combanies X and Y :

X(Rs.) Y(Rs.)

QOutput and sales (units) 40000 50000
Variable costs per unit 4 3
Fixed cost 120000 125000
Interest burden on Debt 60000 25000
Selling price per unit 10 8
IFT GHP! B IR U Dl ITUFET HITOY -

On the basis of above data, compute : |

@ uR=EmeE SRSt (Financial Leverage)

) g ARt (Operating Leverage)

(i) FIH XSl (Combined Leverage)

Toll Sfer SR BH B SR B I I & TRIRET SYTH ) R B |
Explain the traditional approach of relationship between capital structure
and value of the firm.

OR

TP qaF MY A B AaTIE aed a1 &7 AR EYON F I
J gRfyd aRd B aRfE @ g% WaEEl B 9ue SIS |
What are the essentials of a sound dividend policy? mention the main
provisions of Indian Companies Act in respect of declaration and payment
of dividend.

Rl e 3 rfeNe gt 3 @9 arel uRadHl @1 3T fBs JhR
ST BE? T YR T e Tl SaLas B 87 wre Hifor |
How would you study the changes in working capital of a concern? Why
is such a study necessary? Describe.

™ M
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OR
Aee ey @ e Tt @) rer B |

Explain in detail the various steps of Cash Management.
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